1700 4

DIVAN BED

DOUBLE
KING
SUPER KING

MOVIE INSTRUCTION




BOX C

\ /

BOX B (FRAME)

BOX A

VAT Mo N\

\ /

IMPORTANT !
1. Do not fully tighten the screws when connecting the individual components. Do this when all elements are connected

2. Be careful not to soil the upholstered parts of the bed. All bolts are coated with grease. Make sure that the surface you are

working on is clean

3.For the KIPLING model, the ears and headrest mounting accessories are located in the headrest. To take
them out, you need to unzip the zipper.

ATENTION!

The frame without the mattress rises to the top

NEEDED

screwdriver

0)

2 X

two persons



BOX A

PACKAGE Al PACKAGE A2
12pcs 1 pcs 1 pcs 1 pcs 9 pcs 1pcs 4 pcs
M8 30mm Imbus M5 Wrench Wrench Felt Belt Legs and screws
»10" ,13" (jack handle)
PACKAGE A3

1pcs
Middle board

Upholstered
front panel




BOXB

== B 0™

8 pcs 4 pcs 4 pcs 4 pcs 8 pcs 4 pcs
Wood screw M8 50 mm M8 55 mm Bolt washer Nut M8 Self - counter
25 mm M8 nut M6

Y

y
,

52 pcs 2 pcs 1 pcs 2 pcs 2 pcs 4 pcs

(king/Super King)  Metal A Metal B Metal C Metal holder Plastic
48 pcs for Metal C corners
(double)

Wooden slats

26 pcs 52 pcs
(king/superking) (king/superking)
24 pcs 48 pcs
(double) (double)

Plastic caps for Plastic caps

middle metal bar B for metal bar A



BOXB

Put the frame parts as on the drawing below

1 Connect all 4 plastic corner with the metal rail.
Before connect tie around the center metal belt for lifting the frame &R

Metal C \
-element at the headrest

Screw with wood
screws 25 mm

Fasten the middle rail
with M8 50 mm screws,
from the other side put the nut M8



BOXB

Turn the stelage upside down

In the front part of the metal frame A
insert 2 handles and turn them
to become a mattress stop

Click all plastic caps
for middle bar (metal B)
inside

Insert the wooden
slats into the plastic
parts located on
the central rail (B)

6 Press the previously
connected elements
into plastic caps

7 Press the other end of the
wooden slats into the side

metal rail (A)



BOX A

Connect all 4 corners with
screws M8 30 mm to the sides of
the bed with headboard and front

panel (place of the corners marked
with the letter A)

@\NWWN\\

Vi Bl Attach the legs to the corner with
nut and remember about bolt
washer.

<= >




BOX A 10 Slide the center board

into the metal piece

1 1 Stick felt on the bottom of the
centre board and the metal
_____________________________________ n trims (place of the felt marked
with the letter B)




1 2 Cut the mount at the jack
and unfold it. Attach the cylinder
to the rest of the lift with the nut M6




1 3 (A) Insert the two M8 55 mm
screw securing the jack into the
holes in the metal frame

(B) Lay the bed frame
on the unfolded supports

(C)To the previously inserted
M8 55 mm bolts.
Tighten with a wrench

REMEMBER
to do it with minimum two persons

ATENTION!
] The frame without the mattress

rises to the top

10



For the KIPLING model,

the ears and headrest mounting accessories are located inside the
headrest. To take them out, you need to unzip both zippers.

11



For the KIPLING model

After unzipping the zips, screw the "ears" to the headrest from the
inside using 4 screws M8. Place a metal washer under the screw.

@w\w.

12



	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 12

